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e Run number: 3431

e Beam:C

* Target: 0 mm

Shift v
Leader Trigger DAQ Status 41, Comment
A
SRC BT Beam duration: 2.5 sec.
2018-03-16 New 3431 (Beam (0 Flux: 4*105, 5.6 mv, 100 K
Dryabl Al 100 c 3.17
10:35:56 V&V Run  per7? Trigger) = mm) events. BT: BC1&BC2&!VC,
BC1 & BC2 Empty Air
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Picture from E. Zubarev



C | u Ste r CO n d iti O n S 00 Amplitude vs strips in 1 module

per 1Event

Carbon cut

e X - clusters: neighbor strips with signal.

YN Apxi 1
ZN Al 500;_ s 15 186 312: 333333 ,582:583
* X’- clusters (angle is 2.5°): | require the same conditions L e

Cluster coordinate: Center-of-gravity CoG =

Track conditions:
 Hit’s corridor for X & X’

. St1 st2 St3
S

(2/3X + 2/3X’ hits per track) giThit |
=

but minimum 5/6 hits per Si-track

W1

e Si-track through 3 stations

Fit X+ Fit X’ ->Y - clusters: Y = £ X

tg2.5°

-> X & Y spatial

602,603,604,605



The coordinate difference
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ResX_Xhit_st1

duals vs Hits
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Number of points & Number of tracks
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Tracking plan

e Alignment

v’ Alignment of X coordinates

v Alignment of Y coordinates.

- Alignment of Z coordinates -> Z-coordinate is not sensitive.

e Si-Track through X and X’

v’ X-track3points

v X-track+find X —hits around X —{min 3%+ 1X} base 1 & 3-station. ( too big base)
v" minimum 5/6 point per track: 4 point from 1&2 station + find points in 3 station
v

Fit X + FitX’ -> X & Y spatial y= X=X
tg2.5°

e combined track through Si-detector and MWPCs
* minimum Si-point 2(3) spatial + MWPC-segment

v" Add Cut beam - 72;



Back up
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1200

LN alatal

Empty target

Z2_afterTarget

Run number : 3431

Z2 afterTarget

Entries 83118
Mean 43.58
Std Dev 11.49

The charge squared shown on X axis is not
calibrated.

The largest peak corresponds to C,

the smaller ones- N and O
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X
Z;

MWPC

C beam / \

___.I___

SRC Run configuration:

Target #

e

N

N
S
-206.04 _107.36 \

Analyzing magnet
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Expected Silicon detector coordinate resolution

Ax = 0.95 [mm]; Ax’ = 0.103 [mm];
Ax Axr

o, = o,, = ,
X \/ﬁ’ X! \/ﬁ’

o 2_0- 2
Y= => 0, = |3
tg2.5° tg2.5°2

gy = 0.05 [mm]; g, = 1.15 [mm];



Amplitude

Proton amplitude = 250 — 300 adc (from the expert)
Carbon amplitude = 36 * proton amplitude
Alpha amplitude = 4 * proton amplitude = 1200 adc
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Beam profile in Si-detectors

XYspatial_1
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Amplitude vs strips in module for all Events (Station1)
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Amplitude vs strips in module for all Events (Station1)
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